Haiitn npou3BoiHbIE

3
y=23/x+3-———
X2+ x+1

y=Inarcsing;

, gy =x+3y;

X =a-Cost,

=C0S2X—2sin* 3x; _
Y {y:b‘sm t.

Haiitu npousBoaHbie

y=5Vx*+X+1/X; y=sin®x-exp(cosx);
_arcsin x

y=———
NG

x=3t-t3,
y=2t>

; Iny= arctg5 ;
y

Haiitu nponsBogHbie

yzi/;—arctg(4x+1) Dy =X-V1+ X%

y=5In*(x=x2); sin(x+y)=2>:
y

x=a-(t-sint),
y=a-(1—cost).

Halitu npousBogHbie
y="x2+1+x3+1; y=3In®(sinx +3x):

arccos x
y= ;o arctgy=xy ;
X

X =2sin’t,
y=cos5t

HaiitTu npou3BoiHbIE

3
y =0.5tg* (1-2X) +Incosx; y:,/i zs ;

y = arctg

57 y® +x® =3axy;

X = C0s°t,
y =sin’t.

Haiitu nmpou3sBoiHbIe
y=5-/4x+3-2/x%; y=4-sin®(5-x?);
y=x"-exp(-2x); X+y=2-exp(y);

X =Int,

y = 0.5(t +%)'

Haiitu mpounsBoiHbBIE
1+tgx

=In
y 1-tgx

—X; y=2cos’(1-4x) ;

y=+2X+4/x ; X-siny+cos2y=cosy;
x =a(tcost+sint),
y =a(tsint—cost).

Haiitu npou3BogHbIC

y=+/x*+sin2x; y=arctgvx*—2:

y =sin 2x-exp(3x); siny+cosx=exp(x+Yy);

X =Int,
y=arcsint

Haiitn mpon3sBogHeIe
y=In(e* +V1+e*); y=arcsin(tg’x);
y= X _. 2X° +xy=y*;
1+ X2

X =a(2cos 2t —cost),
y=a(2sint—sin 2t)

Haiitn npou3BoHbIe

y:lni;+arcsin\/§; y=t>—2t+exp(2t);

Haiitu npousBoaHsie

y=3-3x°+5x* =5/x; y=arctg(tg®x) ;

. 1-sin x
x—y+a~smy=0;y:InJ —;
1+sin x

X =2t +1,

y=Int

Haiitu npousBoaHbIe

y=cosZ(4x3+3)+sin%+sin37z—'x'

4
1+ x-arcsin x )
y=—F———, z=1"-exp(l/t);
N1+ X2
xiy=InXtY. yo 3at y 3at?
X—y' 141277 14t°




Haiitu npousBoanbie

z=arctg®(x* +4x); y=sin(sin®x);

5:1/1+1/i ; 5=ctg(X+y):
1+t y

X = COst,
y=sint+t

Haiitu nmpou3sBoiHbIE

y=Yxvyx®+1; z=y-siny?;
4Int 3 3 )
= ; -3x’y+a° =0;
1-Int y y

Haiitu npou3sBoaHsie

B 1+x ) arcsmy
) ll y
sin x

= : x+ =5y
y 1+tgx \N Y

X =In cost,
y=3sint

X = exp(-t?),
y=—>
1-t
Halitu npousBogHbie
y= 1 7= 712+2t ;
4x — x*
__2sing. ©y-sinX=Ccosy;
1+cose

X =2t —t3
y=t2-3

Haiitn npou3sBogHbie

2 . P @
y=——=——: y=tg —clg>;
X —x-1 2 2

y=0.5-arctg§ . X2 +y —10x+y=0;

X = exp(2t),
y =sint-exp(t)

Haiitn npou3sBoaHbIe

3
y=2 L+x ; s=exp(-t)-Int;
1-x

4
cos’ ¢

oty 1t
1+t 1+t

p= Yyt —4x’y+a®=0;

Haiitn npousBoaHsbie

Haiitn npou3sBoaHbIe

5 ? in®x; X - arcsint .

y=F—= Y=X-SIN"X; y=— X 72 ’
ve-xy Ja—xt
i : 3 3 3.

z:arctgﬂ' X+x3=6y—y°; y=t-Insint ; JX_+J7:\/a_,

2 1 ] X=2t_t3,

y =exp(t’)

Haittu npounsBoanbie

y=In(x? +5x+/x); yzgx/x%a2 ;

y=3-exp(sin’t); x*—2xy+y’+1=0;
X =t + arctgt,

1
=—t"+t
y 3

Haiitu npousBoaHsie

Haittu npousBoaHbIe

o -Fx-30 o ctg2e
Z/x+1 "7 1+sin?e
z =exp(2arcsiny); X’y —y*’x+(x—y)*=0;
X =2t —sin 2t,
{y:sinBt '

y=2-3(2=x%)?; y=exp(arctgvx);

2
S0 X X+ \Jy =a+025y% ;
SIn™ X

X =2sin’t,
y =3cos’t

Haiitu npousBogHbie
_2sinp-cos’ g
2sin @ +cos’ ¢’

—W/Insm— tg = y 1/1_—)(;
2 1+X

_ narctg®(4x+1) .
=3 :

{: ,y =Db-tgt.
cost




Haiitn npou3BoiHbIE
y=vx2+1+x3+1; arctgy=xy;

Haiitu mpou3sBoiHbIE
2X

y=2Y2x-2+
VX3 +x

: z=arcsin In x?:

arccosx 5, - _
- Y =3In7(sinx+3x); y =3tg®(x+1) +sin® x; cos(x+y)—tgy = X;
X =2sin’t, X =sin 2t,
{y=c055t ' {yzlncost'
Haiitu npou3sBoHbie Haiitu npou3sBogHbIe
y=In X(1+x?) . _Cosp+sing y=(x* +4)¥2+ x> ; y = In(arcsin x —arccosx) ;
x*-1 ' 1-sin’g z=arctgIn(x* —x) + x*; tg(xy — y?) = x*y;
z=y"-exp(y): cosy-exp(x)—sin x-exp(y)=0; x =t? —sint,
{X:at-cost,. {y=t-cost '
y=Dbt-sint

Haiitu npousBoiHbie

Haiitu npousBoanbie

exp(—v/x) . a-sing 2-x*
“Leoxpe) | #Lrcosy i
z=exp(sin®t); y-Inx—x-Iny=In(x+vy); _ x°gx X2 - xy? = 2axy
X=(t+1)/t, 1+tg2x’ ’
y=(t-1/t x=sin*t?,
y =cos’t?
Haiitu npon3BoaHbIe

Haiitu npon3BoHbIC

| VI+x2+x . X2 y? _
y=In —2_,2—+2—_x+y,
1+x°—X y X

_2C0SPED-ING. (1, 190y). exp(arctgly)
a-sinp—b-cose

X = cost -exp(t),

y=sint-exp(t)

y=Yx*=J/x+1 ; y=3cos’(x® —x+1);

y=Intg(x* +1); x°cosy—y’sinx=Xxy;
X = at” cost,
y=bsint®

Haiitu npousBogHbIe

y =arcsin®vx* +5x ; y=3t-exp(sin’t);

Haiitu npousBoaHbIe

3/y2
y:%; y =arcsincosx ++/x* —1;

2
— (1+19230p)-exp(—2): cos(x :X—;
p=(1+19%3p) exp( 2) () y? 3y’ +xy—x>=0; y=In*(x+exp(x+1));
x=t>+2t, x =3t —2t%,
y=t+8t-1 y=5t2+4t
Haittu npounsBoanbie Haittu npousBoaHbIe
_3[in2 2 . _ _ 2.
s=t-arcsin£+\/4—t2; y = arccos COSS’X : y=%sin?x+2x* +1; y=exp(tgx) —cosx’;
2 CoS° X _1+2tgx | Sin(xy) — cos(xy) = X% + y?:
_1-cose . 4_x2+y2_o_ “1+sin?x y Y= yo
~ p-sing x2—y? {x:tlnt,

y=t—Int

{x =2(t% +1),
y=exp(t?) |




